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FA 52 2] 4 7}
A9ty ARG ol 5S4 _
grel olE AN g o173 (2 4)
Bl . A . ool (B AEALA - H AR A} ol A= H] 2l =7¢
HA QA A (FA) - AFAE - HAZE o A i of Ak N |57
307 TZko] A [A] 3,040,373]
02 WAARZ 3,040,373 2,274,504 765,869
Ools A4 g u ZFAL=FQ1 74 1] = 3,040,373
[A] 3,040,373]
132,500 110,681 21,819
ol s A 9 (71 AH])
[A] 132,500]
132,500 110,681 21,819
307 WzZkol A
[A] 132,500]
02 WUANEZ 132,500 110,681 21,819
OA| A ol 4=8ho] 3] = 5,000
A 5,000]
Og oFA| A 9] A o = 7,000
[A] 7,000]
OAJAdots wFY] AU (F,24) = 27,100
[Al 27,100]
OAl ol slAG= | = 5,400
[A] 5,400]
OAldols8+= = 40,000
(A 40,000]
OolEUAN BRI A L9H =Y = 40,000
[~ 40,000]
Oots Al A /NAn] A = 8,000
[Al 8,000]
12,000 8,000 4,000
oty A YA AF
[A] 12,000]
12,000 8,000 4,000
307 WZkol A
[A] 12,000]
02 A NEZ 12,000 8,000 4,000
OF Aot sAHA D= = 12,000
[A 12,000]
25,000 0 25,000
oFEEA A4 7% 1A [ 12,500]
[A] 12,500]
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Ay 2] 2] )
Seldn w9 sy (29:32)
B - A G (FA) - ARAY - AR Aol i3a NEES:
48,000 40,000 8,000
2 T 9 [+ 24,000]
[A] 24,000]
48,000 40,000 8,000
307 F17ko] [+ 24,000]
[A] 24,000]
02 WA HE = 48,000 40,000 8,000
OHAxdETRHLY = 48,000
[+t 24,000]
[A] 24,0001
AE a2 A3 3,000 0 3,000
201 Lk 1,000 0 1,000
03 A H 1,000 0 1,000
OAld#H THE 5 = 500
Oz#4d 2 v = 300
Oz 71d+F = 200
301 LHtEdH 2,000 0 2,000
10 AR B AFF 2,000 0 2,000
OxE a4 MH = 2,000
Q7R (FAA L) 52,065 30,612 21,453
] 4,200 2,400 1,800
SRRl 4,200 2,400 1,800
203 G F-F71H| 4,200 2,400 1,800
04 FAEAFFFH| 4,200 2,400 1,800
OAA302 ©]& 350,000 %12¢€ = 4,200
71373 v] 47,865 28,212 19,653
7] 47,865 28,212 19,653
201 Huk--gH] 9,465 6,612 2,853
01 A H] 9,465 6,612 2,853
O7] ¥ 9,465
- FA g7 E4gn
10,0009 %169 %129 = 1,920
— HAREA| 989
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A 2] 2] )
Saloipy (9):290)
BA A B () - AR - BEE ol Ao i3a NEES:
- MEAREA] 14,1900 %621k 2~ = 880
- B4EAFE-A] 21,6509 #58 2~ = 109
—EYT9 2,976
CZYEY] B 175,000 =4t} #4.3] = 2,800
-FAX 7] EY 88,000 * 1t #23] = 176
— AIZFQ] A2
5,000 %34 x16x129 = 2,880
- TREAZ 700,000 12] = 700
202 o] 1] 38,400 21,600 16,800
01 =ujedu] 38,400 21,600 16,800
O#dien] 200,000 167 #1249 = 38,400
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